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55 H ARFE 10%EBR 10%EHFE 15%HEHBRE 15%HER
(6r-rH%r) 8% (6-A4y) FHEE  (6rH) FHE
1t A F 4,000 8,000 4,400 8,800
1t 8 x ~ 2t LUT 5,700 11,500 6,300 12,600
2t 8 x ~ 3t UT 8,000 16,000 8,800 17,600
3t 8 zx ~ 4t UT 10,200 20,500 11,200 22,500
4t Bz ~ b5t UTF 12,700 25,500 14,000 28,000
5t @8 zx ~ 6t LHUTF 15,000 30,000 16,500 33,000
6t B x ~ TtUT 17,500 35,000 19,200 38,500
7t 8 x ~ 8 UT 20,200 40,500 22,200 44,500
8t B x ~ 9 UT 23,400 46,800 25,700 51,400
ot 8 x ~ 10t AT 26,500 53,100 29,100 58,300
10t B x ~ 11t UTF 29,700 59,400 32,600 65,200
Pl 11t 282 ~ 12t U F 32,800 65700 36,000 72,100
7] 12t 28 x ~ 13t UTF 36,000 72,000 39,500| 79,000
1 13t 8 x ~ 14t UTF 39,100 78,300 42,900| 85,900
7| 144 28 % ~ 15t U T 42,300] 84600 46,400 92,800
15t B x ~ 16t AT 45,400 90,900 49,800 99,700
FA3 /N B E 5,100 10,200 5,600 11,200
ABE 58 B B 10,300 20,600 11,300 22,600
r /NEEBhE 2,600 5,300 e
g | EEABE(SLLT) 5,100| 10,200 -
'y Stx M x ~ 9t UTFT 7,600 15,300 ~H17.3
5l 9tZx# x ~10t UTF 10,200 20400] sesssssssanns
H [1o0tz@x~11t BLF 12,700 25,500 8
B [11tx8x~12t UF 15,300 30,600 £
B l1otx@x~13t UF 17,800 35700 ~H19.3
1000 cc L F 14,700 29,500 16,900 33,900
1500 cc BA F 17,200 34,500 19,800 39,600
3 2000 cc LA F 19,700 39,500 22,700 45,400
. 2500 cc LA F 22,500 45,000 25,800 51,700
5 3000 cc LA F 25,500 51,000 29,300 58,600
F 3500 cc L F 29,000 58,000 33,300 66,700
v 4000 cc L F 33,200 66,500 38,200 76,400
N 4500 cc L F 38,200 76,500 43,900 87,900
| 6000 cc 2L F 44,000 88,000 50,600 101,200
6000 cc & 55,500 111,000 63,800 127,600
EXHEH 14,700 29,500
30 ALLF 16,500 33,000 18,100 36,300
30 NZ#Bx~40 ALLTF 20,500 41,000 22,500 45,100
~| B | 40 Az@x~50 ABLTF 24,500 49,000 26,900| 53,900
=2 x 50 ANZ#x~60 ALLT 28,500 57,000 31,300 62,700
H 60 ANZ#B2~T70 AT 32,700 65,500 36,000 72,000
70 NZ#x~80 ALLTF 37,000 74,000 40,700 81,400
80 NZ#BZ~ 41,500 83,000 45,600 91,300
1 |[HERE L BUT 6,600 13,200 7,200 14,500
t 1 x#x~1.56 GUT 7,100 14,300 7,800 15,700
e D\ 153 & 8,000 16,000 8,800 17,600
= T EREBE 6,600 13,200
ml 2 PXE 1 BT 8,300 16,700 9,100 18,300
t 1 &z ~1.5 GUT 8,900 17,800 9,700 19,500
LL 1.5 &8 9,700 19,500 10,700 21,400
L3 EXEBE 8,300 16,700
E | EEABE =E 3] 5,000 10,000 5,500 11,000
" BEA 6,800 13,700 7,500 15,000
B | /NEIEEBNE = ;i 2,600 5,300 2,900 5,800
i IR BEZXH 3,400 6,800 3,700 7,400
& 7 |FEABE EEHA 8,000 16,000 8,800] 17,600
D EE3i 9,500 19,000 10,400f 20,900
| PEBEBE EXHA 4,000 8,000 4,400 8,800
EE3i 4,700 9,500 5,200 10,400




